Gif £

R1EF

Rl1ZF

h2EF

HR2%F

(="

WD TRIEZR— WA E =F 0 2 0 0 2
BEAZSRECDCLABEE |[aF 2 2 3 0 7
—FRIEZR— VD =F 0 0 2 0 2
ARENRIE 2R — VD] =F 0 1 4 3 8
IR =F 0 2 0 4 6
A FERIEZR— D] =F 0 0 5 1 6
AR RRIERS =E 0 0 1 0 1
J\IEEHRIE R — YV EH & 1 4 1 1 7
E=EES =i 0 2 0 1 3
RamAIE 2R — =F 3 0 0 1 4
[l aF 2 2 0 4 8
RIS aF 0 0 2 3 5
=R aF 0 0 1 0 1
AAREHRIE R R— D EH] aF 1 0 1 0 2
RER LLifE 2 0 2 3 7
EFERER— YL ER EF 4 0 1 0 5
EBER—WLER EF 0 0 1 3 4
B OEEES = 2 0 0 3 5
FOAREIETIE aF 1 0 1 1 3
RGO aF 0 2 0 4 6
RIRETHRNEZR— WA EE =i 0 0 3 1 4
1] EF 1 0 2 0 3
ARERAREZR—YLER  |E5F 3 3 0 1 7
HAOREZR— Y DR EF 0 0 3 0 3
SERAE S aF 2 0 0 0 2
B RIE R R — W MEE] EF 1 2 3 2 8
BEBRESST EF 1 0 2 0 3
SRR = RIE R — W MEH] EF 2 0 0 1 3
RETRIE R R— Y EH EF 1 0 0 2 3
SlgeE EF 2 0 1 0 3
BRIy EF 0 0 1 0 1
fRER RS EF 1 3 5 0 9
BRI LRIE R R — WV AMEE EF 2 2 2 7 13
ZEMRAR—WADEH EF 0 4 0 2 6
EBFRIE R — VA ER EF 0 0 0 1 1
AT aF 1 2 2 1

&t 35 33 49 50 167




ShERIR Btk | R1SF | PlRF | F2BF | H2%F | A
=F 31 31 31 43 42 147
B 1 0 0 1 0 1
= 3 2 2 3 5 12
i 1 0 2 3 7
35 33 49 50 167




